EARAZROREIERT — 2 N—XBISY —F 20145108198 (H) 15[E£R3H

IGBC1—-5 C15 #5%—# EEE R
[AE£] 1%&:170,000  ~ 2% :34,000”  33%&:1500 M . 43%&:11,000 " 53 :6,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s EERE 1:32. 2-2-2-1 50— | 1| s | BiEERZ (&R
1 N 4 47 1) — i3 54.0 (3_)0 .5 (_82) ﬁ?ﬂ?ﬁﬁ
R:gZJFLLY b BEALTINLE HET7— L
3 # 3 | BLURF 1:32.2 3-3-3-2 [39.7| — 2 475 | BERE (£R)
207|9|RX7/—K 54.0 ( 1/2) e) | (B J PN
R:IT7IN—K B:xOFv417 LLIT14ZT7—L4
- BEMALA :32. -5-5- . — HiEg—t (£R)
3 Bl 3 FLIAYY— 4 4 o (11312/25> 4-5-5-4 | 39.3 4 (3_938) i
L:xrinMn0—- BT IA%53 BREMHEGEN RRHSE
S, S 3 | REF 1:32.8 8-7-7-5 [39.1| — 5 479 | FET (£3R)
A > ) NoFxyoaT14> 54.0 (1 1/2) -5) (Hi)777/—1 FEY 3>
LT RIL YT w8y BRATAINK—T AR B
R . — 7 | BHEE 1:32. —6-6- . - 1 EEfR (£R)
57|10 A>T~ KANF> SRR & e | T | P e |wmee
RO—VXA A BFLT—K/ =TI *7— Fip
- D o hBEEH :33. -10-10- . — ERRD (2R
6 E A i 5 - 1(313)0 10-10-10-8 | 38.6 6 (4_025) %#z%z
Lyrh—r BTCIAXTT BEMHEGEN RRES
= FLPEEL 134, -8-7- . - FEZF (2R
71516 | 7727t b o4 54.0 1(3;)0 88778 1 40.3 10 :‘78) FRES
L:7Ivhty b B:T7Ia23AM0O— RN
s =3 4 3 | BREBAML 1:34.1 1-1-1-3 | 42.1| — 11 425 | FHHE—H (£R)
8|8l12| AH /=% 54.0 172 G |EREE
R:T59v97k—0 B:JL—IK-F & BT
o P . 4 | BUIERE 1:34.1 -8-9-10 | 40.1| — 7 4 L (£R)
9/5|5 /\—7)[’/‘\"’(/ H 5ﬁ6.0 (/?’_) 6-8-9-10 0 (g? =LE
RTRIAYT2ER BT7A v Esltie)
3 e # 6 | REBH 1:34.4 12-12-12-11{ 39.6 | — 11 509 | #HARRK (£R)
10/ 1|1 XrTLNT 56.0 (1 1/2) (-4) (%) 77—ZXpET 3>
L:TZRT7 48— Biky w4 /N—F F)I> NS
e 4 3 | MEHEE] 1:34.7 4-4-4-7 | 41.7| — 8 471 | FEKX (&R
11(8[11| TARXEY b 56.0 (1 1/2) (a) | FHIE—
T T E ANt Y P EEA EKS

5 3 3 | BAR— 1:35.5 11-11-11-12| 40.8 | — 9 430 | DEERNZE (£IR)
7 - FIRAE S AENES 56.0 @ (R)_J PN
RFAd—F B:OXEXF v TR Evdly RT7—L

® 1 —F—@EBIBfL

| S=zr= 12,4,9,(3,11),(5,10),(2,6),7,8,1

2al=3r= 12,4,9,11,3,10,2, (5,6) ,7,8,1

J=zr= 12,4,9,11,3,10,(2,6) ,5,7,8,1

Adx=zr= 4,9,12,3,2,10,11,(6,7) ,5,1,8
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